

Bello Folashade Shakiratu

1717115011083

Civil Engineering

$$\textcircled{1} y = (2x^2 + 3)$$

$\ln 2x$

$$\ln y = \ln (2x^2 + 3) - \ln (\ln 2x)$$

$$1 \cdot dy = 1 \cdot 4x - 1 \cdot \frac{1}{x}$$

$$y dx = 2x^2 + 3 \quad \ln 2x \quad \frac{1}{x}$$

$$\frac{dy}{dx} = y \left(\frac{4x}{2x^2 + 3} - \frac{1}{x \ln 2x} \right)$$

At $x = 2.5$

$$\frac{dy}{dx} = \frac{2(2.5)^2 + 3}{\ln(2.5)} \left(\frac{4(2.5)}{2(2.5)^2 + 3} - \frac{1}{2.5 \ln(2+2.5)} \right)$$

$$\frac{dy}{dx} = 3.82 \text{ to } 38.9$$

$$\textcircled{2} \text{ gradient of } y = \frac{2x}{x^2 - 5} \text{ at } (2, -4)$$

$$\text{let } u = 2x, v = x^2 - 5$$

$$\frac{dy}{dx} = 2, \quad \frac{dv}{dx} = 2x$$

$$\frac{dy}{dx} = v \frac{dv}{dx} - u \frac{dv}{dx}$$

$$v^2$$

$$\frac{dy}{dx} = \frac{(x^2 - 5)^2 - 20x(2x)}{(x^2 - 5)^2}$$

$$= \frac{2x^2 - 10 - 40x^2}{(x^2 - 5)^2}$$

$$\therefore \frac{dy}{dx} = \frac{-2(x^2 + 5)}{(x^2 - 5)^2}$$

$$\text{At } (3, -4)$$

$$\frac{dy}{dx} = -\frac{18}{11}$$

$$3) z = 2x^3 \ln y$$

$$\ln z = \ln(2x^3) + \ln(\ln y)$$

$$\frac{1}{z} = \frac{dz}{dy} = \frac{1}{2x^3} (6x^2) + \frac{1}{\ln y} \cdot \frac{1}{y}$$

$$\frac{1}{z} \frac{dz}{dy} = \frac{6x^2}{2x^3} + \frac{1}{y(\ln y)}$$

$$\frac{dz}{dy} = z \left[\frac{3}{x} + \frac{1}{y(\ln y)} \right]$$

$$\frac{dz}{dy} = 2x^3 \ln y \left[\frac{3}{x} + \frac{1}{y(\ln y)} \right]$$

$$4) \int_0^2 x(2x^2 + 1)^{1/2} dx$$

$$u = 2x^2 + 1$$

$$\frac{du}{dx} = 4x, \quad dx = \frac{du}{4x}$$

$$2. \int_0^2 x(2x^2 + 1)^{1/2} dx$$

$$\Rightarrow \int_0^2 x u^{1/2} \cdot \frac{du}{4x} = \frac{1}{4} \int_0^2 u^{1/2} du$$

$$= \frac{1}{4} \left[\frac{u^{3/2}}{3/2} \right] = \int_0^2 \frac{3}{8} u^{3/2} + C$$

$$\Rightarrow \int_0^2 \frac{3}{8} (2x^2 + 1)^{3/2} + C$$

$$= \frac{3}{8} (9)^{3/2} - \frac{3}{8} (1)^{3/2} + C$$

$$= \frac{81}{8} - \frac{3}{8} = \frac{78}{8}$$